SAMPLE EXAM

1. What is the probability of heterozygous
offspring?

HEFERANEBREZD?

B b
B | BB Bb
b Bb [:‘ b[l
A.25%
B.50%
C.0%
D.100%

2. What allele combination should go in the
missing box?

tTEEMNERAS BN ERKIIETFE?
A a
A | AA  Aa

a ”? aa

A. AA
B. Aa
C.aa

D. none of these ((ELLEFAR)

3. Georgette wants to breed her pet
phoenixes, but she isn't sure if the babies
will burst into blue flames or red flames.
Her documents show that her female
phoenix is homozygous dominant for red
flames, while her male phoenix is
homozygous recessive for blue flames.
What color flames will the babies have?

BT OEEEMNREYRE - BittAtE
EEEREZREHBLEBKBERA
KA - MEYSCHRER - frRYIEERLELE
ALeXianmEuas s - mitayEERE
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=EBXENRMHAS T - ABRRSAEM
BERBRIXIE ?

ARed 418

B.Blue £

C.Purple 28

D.50% Red, 50% Blue 50%4L & - 50%EEES

4. AUG is the genetic code which is known
as ""START"". It has an amino acid name as

AUG E%}s‘zia?%“START”E’J@;i; 0 -
HWEEBAES °

A Alanine A&
B.Methionine E &4
C.Selenocysteine ffi~¥ it & B8
D.Tryptophan &%

5. What is the process involve in converting
RNA to protein?

% RNA B{ERERENBIER
A.Duplication &8
B.Replication 8%
C.Transcription ¥
D.Translation #&3E

i ?

6. Which gas is removed from the
atmosphere during photosynthesis?

EXSFRABEPRARPERTHLESR
e ?
A.hydrogen &%

B.oxygen &%
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C.nitrogen &5

D.carbon dioxide —_ & {b%x

7. Which bond of the ATP molecule is
broken in order to release energy?

ATP 73T ROMME 52 Ef 22 DAFE I REE ?

\
P-PHP)
A B
C D
AA B.B
C.C D.D

8. At midnight, what is happening in the
leaf of a plant?

FRIED  BEYNEFRETHE?

A.Respiration FEIR{ER

B.Photosynthesis 3¢5 1EF

C.Photosynthesis and respiration Y¢&1EH
AR F F

D.None of the above M _E&EIAZE

0. The movement of molecules

from low to high is known as

DFIEERSRESHRER

++
++
++

+ +
++ +-
+ + |4+
+ +
+

LOw

S5
4+
PRHIHI

A.simple diffusion B EE &AL
B.facilitated diffusion & ZE &AL
C.active transport = B 3E i)
D.osmosis 2%
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10. The stores food, water,
wastes, and other materials in both plant
and animal cells.

FEY ~ K~ B E 47k
fﬁTE’fE%%ﬂih% Hkach -

Plai nt Vac ol

A.Vacuole &8
B.Mitochondria #RHIfE
C.Ribosomes 1Zif#Ezs
D.Chromatin #&E

11. What structure does this organism use
for locomotion (movement)

2 EMIEERMTEBERETEIT (EF)

A.1, nucleus #HA
B.2, chloroplast ZE4%52

i
»@

C.3, vacuole &l
D.4, flagella $#E
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12. Cell organelles that are responsible for
digesting food, worn out organelles and
other cellular wastes are called

BEHIERY E&'EE’J Al B =3 A0 L fth 40 iE
BRI 2R 1B °

A.Mitochondria ZRifiF2
B.Vacuoles ;&&

s
=

C.Lysosomes AHES
D.Chlororplasts ZE4%5%

13. The burning fossil fuels has harmed the
environment by

REN AR ERBRBUTAREE T
IR

A.decreasing acid rain in the northeast United
States 3= 5= 15 3R #% vR s /)

B.adding carbon dioxide to the atmosphere [&]
ARPHM EILH

C.increasing biodiversity in the lakes and
ponds of the Adirondacks 1Z 70 % BR4E 58

AANDIIEREY SR

D.depleting the ozone shield directly over
western New York State 5 4AAIMN A EL L

EHNRAE

14. What would most likely happen if the
rabbit population was removed from the

food chain grass —> rabbit — fox? 41 %R
BRFEFEEVMHPEBF  ZACRES
BHETEE 5 RF > ME?

A.their would be more grass ftiffj& 75 & 2%
HE

B.there would be less rabbits G/

C.there would be more fox §5E ZHIR
i}
D. None of them &3~ &
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15. In the wild, some alligators get their
teeth cleaned by birds. The birds get their
food from the alligators' teeth.

What type of symbiosis is this?ZEEF4b + —
LEEVERSEERTE - BHRTERN
FEPENEY -

St EEBMNEER% ?

A.Mutualism T4
B.Commensalism $£4 ¥
C.Parasitism &4
D.Neutralism 17 ¥

16. In an ecosystem, there are populations
of moose, rabbits, grass, and pine trees.
Suddenly, a fire blazes through the area,
which kills all of the populations. As the
months go on, new species of grass begin to
take root. This attracts animals, and
eventually the ecosystem is restored.

What type of ecological succession
happened?

EEREREP - BRE - &1 - EMN0RH
RViEEE - R - —BAKREE 7 AtE -

T FHAAD < BRI - Hif0
SEMEERES - BRI THY - B
EHE R AR -
BETHEERNEEREES?
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A .Primary succession 3 2 4 ¥

B.Secondary succession 2R 4%

C.Tertiary succession &5 il &
D. None of the above LA &~

17. Below are the % similarities of DNA
between whales and other species. Based on
this, which are whales most closely related

to? LU i & B H At 8 2 6] DNA HIAH
CEED . FRIE, AR ERGRL R fR
=) ?

A% Pig, 68.4%
B.JI 55 Hippo, 83.4%
C./J\E& Mouse, 38.4%
D. 5 Horse 78.2 %

18. Which answer choice CORRECTLY
describes each picture of the levels of

Sbe

organization of this green plant? BH{E 252258
JE FREMh R 7 S TR A B W AR A K ZERY
FRER ?

P Q

O

A.P: tissue, Q: organ, R: organ system, S: cell
P:#H% - Q:23E R ::(E&#M - S :
i3]

R e S
’ P o= "‘
‘_/,_J
A S
5

A
g
!
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B.P: organ system, Q: cell, R: organ, S: tissue
P.8&B&#% Q : #Ailg - R:28B S

C.P: organ, Q: tissue, R: organ system, S: cell
P.22B - Q: 4% R .%:EB&# S
gl

D.P: cell, Q: organ, R: organ system, S: tissue
P:#il - Q:8E "R . %BEBER#, - S

19. The chart shows four levels of
organisms.  Which statement correctly
describes a level of organization in the

human nervous system ElIZFREER 7 [{EE
REGHE) - WHEBUR E R T A B
Z AR RYAE A K2

A.Nerve cells group to form nerve tissue. {8 &%
AT RREETT B AR A AR A -

B.The brain is a group of nervous systems. X
M — A RAR -

C.The organs of the nervous system form a
nerve cell A& 2 MR BT A AR -

D.The nervous system has two groups of
nerve tissues. fBAS 24753 Ml A0 1B A A 4

20. Which is NOT a possible way to reduce
global warming? R 5 AN EWA 25K
BRAYTTBE L ?

A.Reducing top speeds limits for cars and
trucks FEIEBSE R REN &K S EE R
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B.Insulating homes in countries in cold

climates 2 RIEBEI X = EPfREL
C.Decreasing the number of nuclear power

stations )& /M % BISEIE
D.Improving traffic flow in cities 5

21. Each one of the boxes on the Punnett
Square represents what probability of an
offspring’s' genotype in percentage(%)?

Write answer just in number . BER4% 75 18
FHEEAFESBKRERERRMNE S
MR (%) ? ABHUEE.

Answer (in number)

EE (B

22. Based on the graph, what temperature
does this enzyme work best? IR #R[EZ, &

TR AE AT PEIREE T ORI 2

Enzyme Activity

0 5 10 15 20 25 30 35 40 45 50 55 60
Temperature (°C)

Answer (in number):

Ex (B7)
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23. In a DNA molecule, if 38% of the
molecular bases are C (cytosine), what
percent of the bases are T (thymine)? Write
answer in number £ DNA 7T+, R

38%HY THgEE C (famgig) , HE T
(BafiRuzrng) ROMREE o eSS4 ? HE
FREE

Answer (in number):

EE (BF)

24. How many trophic levels are there? &
ZWMEZER ?

Foxes 4 Owls

X Birds
Z e
// /Rabblts Mlce Grasshoppe/ %

et

\/

Carrots B Grasses ra|ns

4 L)
@

(Not drawn to scale)

Answer (in number):

Ex (BF)

25. A brown eyed man of
genotype Bb marries a blue eyed woman.
What is the chance that their third child is
brown eyed in percentage? Write answer

in number ZR%A Bb fUiE A RRE 5 AR
T—EERBYZ AN, mPINWE=EETF
ERERFNE S HESD ? AR
ES

Answer (in number):

ZEx (BF)




